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F = S * = B
R %047 1,020 125 EFI48% 14 18
48 1, 200 148 494 3 H28H
49 1, 500 188 504 1H25H
50 1, 730 217 514 38118
51 1,900 238 514118118
52 2,087 261 52410H 2482
53 2,227 280 5381081082
54 2,373 297 544108 8H
55 2,542 318 5564108 6H
56 2,710 339 564108318
57 2,858 360 574118248
58 2,951 369 584108 78
59 3, 045 381 594 10H 218
60 3,156 395 60 10H 5H
61 3, 252 407 614F10H 5H
62 3, 324 416 624 10H 5H
63 3, 425 429 634 10H 5H
= gk 5T 3, 565 446 FEpk>TxaHE10H 5H
2 3, 738 468 2 10H 5H
3 3,923 492 3 10H 4H
4 4,092 513 4108 4H
5 4, 221 528 5410H 3H
6 4, 326 541 6510H 18
7 4, 430 5565 74108 18
8 4,527 567 84 10AH 18
9 4, 630 580 94 10H 1H
10 4,716 590 10£10H 182
11 4,759 595 11410H 183
12 4, 799 600 124108 18
13 4, 833 605 13%F10H 1H
14 — 606 14108 18
15 — 606 14108 18
16 — 607 16108 1H
17 - 609 17108 182
18 - 612 18108 1H
19 - 620 199410H 25H
20 — 628 208108178
21 — 630 21410H18H
22 — 643 2241183 582
23 — 647 234108208
24 — 653 24108 182
25 — 664 254108 30H
26 — 677 2644108 18
27 - 694 27108178
28 - 715 28 10H 18
29 - 737 2944108 18
30 - 762 30£10A 18
R e - 790 SFE4 108 1H
2 — 793 210H 1H
3 — 821 3EE10H 1H
4 — 853 4108 1H
5 — 898 54£10H 8H
6 — 952 644108 5H




